

M133: Series - Extra Problems:
Limits of Sequences (Solutions)

$$1). \lim_{n \rightarrow \infty} \frac{6n^4 + 20n^2 - 1}{-2n^5 + 3} = \boxed{0}$$

$$3). \lim_{n \rightarrow \infty} \frac{10n^3 - 6n^2 + n}{-3n^2 + 1} = \boxed{-\infty}$$

$$2). \lim_{n \rightarrow \infty} \frac{-4n^2 + 6n}{3n^2 + 3n + 1} = \boxed{\frac{-4}{3}}$$

$$4). \lim_{n \rightarrow \infty} \frac{6n^2 + 3}{n - 100} = \boxed{\infty}$$

$$5). \lim_{n \rightarrow \infty} \frac{-\sqrt{3n^5 + 20n + 4}}{8\sqrt{n^5 + 3n^2 - n}} = \boxed{\frac{-\sqrt{3}}{8}}$$

$$6). \lim_{n \rightarrow \infty} \frac{n^2}{2\sqrt{n^5 + 3n^2 - n}} = \boxed{0}$$

$$7). \lim_{n \rightarrow \infty} \frac{(2n^2 - n + 4)^4}{6(-n^4 + 2)^2} = \frac{2^4}{6} = \boxed{\frac{8}{3}}$$

$$8). \lim_{n \rightarrow \infty} \frac{\sqrt{3n^5 + 2n^2 - 1}}{-n^2} = \boxed{-\infty}$$

$$9). \lim_{n \rightarrow \infty} \frac{-2\sqrt{n^{21} - 7n^3 + 1}}{6n^{10} + 2} = \boxed{-\infty}$$

$$10). \lim_{n \rightarrow \infty} \frac{(-2n^2 + 6n - 1)^3}{-12n^6 - 20} = \frac{(-2)^3}{-12} = \frac{-8}{-12} = \boxed{\frac{2}{3}}$$

$$11). \lim_{n \rightarrow \infty} \left(1 + \frac{10}{n}\right)^n = \lim_{n \rightarrow \infty} \left[\left(1 + \frac{1}{\frac{n}{10}}\right)^{\frac{n}{10}} \right]^{10} = \boxed{e^{10}}$$

\downarrow
 $n \rightarrow \infty$
 e

$$12). \lim_{n \rightarrow \infty} \left(\frac{n}{n+1}\right)^{5n} = \lim_{n \rightarrow \infty} \left(\frac{1}{\frac{n+1}{n}}\right)^{5n} = \lim_{n \rightarrow \infty} \frac{1}{\left(1 + \frac{1}{n}\right)^{5n}} = \lim_{n \rightarrow \infty} \frac{1}{\left[\left(1 + \frac{1}{n}\right)^n\right]^5} = \boxed{\frac{1}{e^5}}$$

\swarrow
 $n \rightarrow \infty$
 e

$$13). \lim_{n \rightarrow \infty} \frac{6n^2(4n-1)!}{(4n+1)!} = \lim_{n \rightarrow \infty} \frac{6n^2}{4n(4n+1)} = \frac{6}{16} = \boxed{\frac{3}{8}}$$

$$14). \lim_{n \rightarrow \infty} \frac{3^{n+3}}{8^n} = \lim_{n \rightarrow \infty} 27 \cdot \left(\frac{3}{8}\right)^n = \boxed{0}$$

$$15). \lim_{n \rightarrow \infty} \left(\frac{3n+6}{3n+2}\right)^{10n+2} = \lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{3n+2}{4}}\right)^{10n+2} = \lim_{n \rightarrow \infty} \left[\left(1 + \frac{1}{\frac{3n+2}{4}}\right)^{\frac{3n+2}{4}} \right]^{\frac{4}{3n+2}(10n+2)}$$

\downarrow
 e

\downarrow
 $\frac{4}{3} \cdot \frac{10 \cdot 4}{3} = \frac{160}{9}$

$$= \boxed{e^{\frac{40}{3}}}$$